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The figures in the margin indicate
Jull marks for the questions.

1. Answer the following questions (within
50 words) : : 2x4=8

(a) What is horizontal merger ?
(b) What is disinvestment ?
(0 What is ADR?

(d) Write a note on Bonds.

Contd.



2. Answer the following questions (within
100 words) : 5x4=20

(a) Write a short note on G-20.

(b) Explain the Government policies
towards encouragement of foreign
investment in India.

(c) Write a short note on Euro Issues.

(d) Distinguish between Merger and
Amalgamation.

3. Answer any two of the following questions :
10x2=20

(a) What is industrial combination ?
Explain the causes behind industrial
combination. 3+7=10

(b) Explain the New Industrial Policy and
its impact on the Indian Economy.

(c) What i§ Regional Disparities ? Explain
the main causes of Regional Disparities

in India and give some measures to
solve the problem. 1+5+4=10

(d) Explain role and main sources of
industrial finance in India. 5+5=10

63/2 (SEM-4) ECO 4-7/BL 2 Contd.

4. Answer the following questions: 16x2=32

(a)

(b)

What is MSME ? Explain role and
functions of MSME in India. Also
explain its problems faced by the sector.

4+6+6=16

Or

Explain the role and function of private
sector industries in India. Explain the
present scenario of private sector in
India. 8+8=16

Explain the importance of productivity
in industrial economics. What are
factors which influence productivity of
an industry. 8+8=16

Or

What are the factors that influence for
location of an industry ? Critically
discuss the Weber’s law of Industrial
location. 6+10=16
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